General practice

QT Surds

1. Write the following surds in the form avh, where a and b are integers.
(a) V12

(b) V48

(c) 250

(d) 720

2. Simplify the following surds in the form ab, where a and b are integers.

(a) V8 + V72

(b) V1000 — 90

(c) V125 — /500

(d) 2v/125 + /80

3. Expand and simplify (3 +v5)(3 — V5)
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4. Expand and simplify (2 + v2)(1 — v2)

5. Show that (4 +V5) = 21+ 8v5

Show each stage of your working

6. a and b are positive integers such that (2 — va)’ = b — 43

Find the value of a and the value of b.

4+/5+5 1435

7. Show that can be written as
5+ /5
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